
1)

p =

Perimeter = 66 yd

2)

t =

Perimeter = 35 in

3)

k =

Perimeter = 19 ft

4)

z =

Perimeter = 33 in

5)

b =

Perimeter = 32 ft

6)

q =

Perimeter = 40 yd

The perimeter of a triangle is 58 yards. If the lengths of two sides are 22 yards and 17 yards,

what is the length of the other side of the triangle?

If the perimeter of an equilateral triangle is 30 inches, determine the length of each side.

7)

8)

Name :
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5 ft

15 ft

b

13 in

t

7 in

11 in

z

p

q

12 yd

3 ft

9 ft

k

Find the missing side.
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1)

p =

Perimeter = 66 yd

2)

t =

Perimeter = 35 in

3)

k =

Perimeter = 19 ft

4)

22 yd

15 inz =

Perimeter = 33 in

5)

9 in

12 ftb =

Perimeter = 32 ft

6)

7 ft

14 ydq =

Perimeter = 40 yd

The perimeter of a triangle is 58 yards. If the lengths of two sides are 22 yards and 17 yards,

what is the length of the other side of the triangle?

19 yards

10 inches

If the perimeter of an equilateral triangle is 30 inches, determine the length of each side.

7)

8)

Name :
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Answer key

5 ft

15 ft
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13 in
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7 in

11 in

z

p

q

12 yd

3 ft

9 ft

k

Find the missing side.
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